My statement of Thomson’s analog:

1.
“Violinists are persons.” 

2.
“All persons have a right to life.”

3.
[So the violinist has a right to life.]

4.
[A person’s right to life is stronger and more stringent than your right to decide what happens in and to your body.]

5.
“[So] a person’s right to life outweighs your right to decide what happens in and to your body.”

6
“So [the violinist may not be killed]; you may not be unplugged from him.”

My diagram of the parallel argument.











We have completed step 1 of the argument from analogy.  Once we have displayed the target and analogs this way, it is easy to actually state the argument from analogy using Steps 2 and 3:

The conclusion of the analog does not follow.

Therefore, probably, the conclusion of the target does not follow.

2. All persons have a right to life.





1 The violinist is a person.





4.  [A person’s right to life is stronger and more stringent than your right to decide what happens in and to your body.]





5 A person’s right to life outweighs your right to decide what happens in and to your body.





3. [The violinist has a right to life.] 





6 [The violinist may not be killed]; you may not be unplugged from him.








